Math 510 Section 3.4 HW?2

1—secx
0Wy=——
Y tan x

,_ tanz (— secxtanx) — (1 — sec z)(sec” x) _ secx (—tan® z — secx + sec’ z) _ secx (1 —secx)

(tanz) 2 tan? x tan? z

12. y = cscB(# + cotd) =
y =cscB(l —ese®8) + (6 + cot§)(—oscBcot§) = cscf (1 — esc” 8 — cot § — cot” 8)
= cscf (— cot® 8 — 6 cot 8 — cot? 8) [1+ cot® 8 = csc” 6]
= cscf (—@cot — 2cot® @) = —cscBcot 8 (0 + 2 cot 8)

29. flz)=2—2sinz,0 <z <27 f'(x)=1—2cosz. Sof(z) >0 & 1—2coszx>0 <« —2cosz>-1 &

coszx <1 & Z<ax<iE = fisincreasingon (%, ).

30 flz) =z —sinz, 0 <z < 2r f(z)=1—cosz = [’ (z)=-sinz Sincesinz > 0on (0,), f is concave upward
on (0, ).
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